Page 1 of 4

Contract ID: 15427 Counties: CAPE MAY

Letting Date: June 18, 2015 District(s): S4

Call Order: 427 Project(s): STATE

Contract Time: 11/06/15 COMPLETION DATE Min: Max:

Contract Description: Readvertisement of Maint Dredging for Beach Creek 1 Channel

Line No / Item ID Item Description		(1) SOUTHWIND CONSTRUCTION CORP.					
Alt Set / Alt Member	tuantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Miscellaneous		Cat Alt	Set:	Cat A	It Member:	
0001 151006M	1.000	7,733.00000	7,733.00				
PERFORMANCE BOND AND PAYMENT BOND	DOLL						
0002 152004P	1.000	21,848.40000	21,848.40				
OWNER'S AND CONTRACTOR'S DOLL PROTECTIVE LIABILITY INSURANCE							
0003 152015P	1.000	500.00000	500.00				
POLLUTION LIABILITY INSURA	NCE DOLL						
0004 153009P	(1)	2,889.00000	2,889.00				
BAR CHART PROGRESS SCHEDULE AND UPDATES							
0005 154003P	(1)	956,451.37000	956,451.37				
MOBILIZATION	LS						

Page 2 of 4

Contract ID: 15427 Counties: CAPE MAY

Letting Date: June 18, 2015 District(s): S4

Call Order: 427 Project(s): STATE

Contract Time: 11/06/15 COMPLETION DATE Min: Max:

Contract Description: Readvertisement of Maint Dredging for Beach Creek 1 Channel

Line No / Item ID Item Description		(1) SOUTHWIND CONSTRUCTION CORP.						
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Miscellaneous		Cat Al	t Set:	Cat A	It Member:	
0006	155003M	1.000	18,345.15000	18,345.15				
FIELD OF	FICE TYPE A SET U	P U						
0007	155021M	6.000	650.03000	3,900.18				
FIELD OFFICE TYPE A MO MAINTENANCE		MO						
8000	157004M	1.000	28,536.90000	28,536.90				
CONSTR	UCTION LAYOUT	DOLL						
0009	158060M	60.000	129.02000	7,741.20				
CONSTRUCTION DRIVEWAY T								
0010	158072M	1.000	505.58000	505.58				
OIL ONLY TYPE 1	' EMERGENCY SPIL	L KIT, U						

Page 3 of 4

Contract ID: 15427 Counties: CAPE MAY

Letting Date: June 18, 2015 District(s): S4

Call Order: 427 Project(s): STATE

Contract Time: 11/06/15 COMPLETION DATE Min: Max:

Contract Description: Readvertisement of Maint Dredging for Beach Creek 1 Channel

Line No / Item ID Item Description		(1) SOUTHWIND CONSTRUCTION CORP.						
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON : 0001	Miscellaneous		Cat Alt Set:		Cat Alt Member:		
0011	158085P	1.000	12,840.00000	12,840.00				
BIOLOG	ICAL SURVEYS	LS						
0012	159018M	1.000	1,733.40000	1,733.40				
CONSTRUCTION IDENTIFICATION U SIGN, 6' X 12'		CATION U						
0013	161003P	(1)	2,278.17000	2,278.17				
FINAL C	LEANUP	LS						
0014	201003P	(1)	4,266.26000	4,266.26				
CLEARII	NG SITE	LS						
0015	202042M	39,198.000	16.00000	627,168.00				
DREDGING, TRANSPORT AND CY PLACEMENT TO BEACHFILL								

Page 4 of 4

Contract ID: 15427 Counties: CAPE MAY

Letting Date: June 18, 2015 District(s): S4

Call Order: 427 Project(s): STATE

Contract Time: 11/06/15 COMPLETION DATE Min: Max:

Contract Description: Readvertisement of Maint Dredging for Beach Creek 1 Channel

	Contract Doconplain. Readvortectment of Maint Broaging for Bodon Grook 1 Chainter							
Line No / Item ID Item Description		(1) SOUTHWIND CONSTRUCTION CORP.						
Alt Se	et / Alt Membe	r Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 Miscellaneous		Miscellaneous	Cat Alt Set:		Cat Alt Member:			
0016	605201P	800.000	12.38000	9,904.00				
SAND FENCE LF								
0017	158003M	1,000.000	4.94000	4,940.00				
CAUTION FENCE LF								
Section Totals: \$1,711,580.61								
= Contract Totals			\$1,711,580.61					
Contract rotals		φ1,/11,36U.01						
Cost Plus Time Totals		\$1,711,580.61						

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Call Order: 427 Contract ID: 15427 Counties: CAPE MAY

Letting Date: June 18, 2015 10:00 AM District(s): S4

Contract Time: 11/06/15 COMPLETION DATE

Contract Description: Readvertisement of Maint Dredging for Beach Creek 1 Channel Project(s): STATE

Rank	Vendor ID/I	Name	Total Bid	Percent Of Low Bid
1	35-1474620	SOUTHWIND CONSTRUCTION CORP.	\$1,711,580.61	100.00%
	22-2166036	WICKBERG MARINE CONTRACTING, INC.	Irregular	
	A3063	AGATE CONSTR CO INC	Irregular	

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,